P
m
jusnl
Al

Y
4
juanl
A
N
4

S DT E
RUE 2romE [1] %

k

o

B) ruostusticns ko, Tomzeezny Lo,

© BEk) 1, 1 2
3 3
(4]
_|_ —_—
@ mgx] 2 4+ 3 = 5
6 6 6)
(]
_|_ —

B co:zzrziio.

oLz ® L1 _
®%+%= @%ﬂL%:
CRERN ° 2,8 _
@%+%: %‘F%:

(1/4)



SR D E

RUE 2romE [1]

E) <osmeizirss.

oiede b
N
ohihe bl
@%4—%: %4-%:
R
S

(2/4)



SR DT E

RUE roiiE (1]

D cscuzzuegs puosEramses Lo,
o3t elhro
I
® — + 5% LI S
® 7+ o = ® o+ =
® 4 *l5 =3 e
S A R R
@ 5 g ® 5+ 5 =
T

(3/4)



SR DT E

RUE roiiE (1]

B xosserziss.

N
N
N

O cscuzsmess pnouEzanzes s,
Sk s de ]
@%+%+?=1 @%+§+%=1

(4/4)



